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1. GENERAL CONSIDERATIONS

The word machine has been given a wide variety of
definitions,® but for the purpose of® this article it is a
device, having a unique purpose, that augments or replaces
human or animal effort® for the accomplishment of physi-
cal tasks. Tools may be regarded as® the simplest class of
machines. The operation of a machine may involve the
transformation of chemical, thermal, electrical, or nuclear
energy into mechanical energy, or vice versa, or its func-
tion may simply be to modify and transmit forces and mo-
tions. All machines have an input, an output, and a trans-
forming or modifying and transmitting device.

Machines that receive their input‘ energy from a natu-
ral source, such as® air currents, moving water, coal, petro-
leum, or uranium, and transform it into mechanical energy
are known as® prime movers. Windmills, waterwheels, tur-
bines, steam engines, and internal-combustion engines are
prime movers. In these machines the inputs vary; the out-
puts are usually rotating shafts capable of being used as®

@® has been ... definitions: give a definition: F& . a (wide) va-
riety of: ZF&KEN; 2FEHEM. © for the purpose of: .. %W A
T..&8R. @ augments ... effort: FEHBARREADRESL". ARE
IR WM ARADRED”, MBEVEADRED". @ be regarded as:
WEERE, BIHE. O such as: Pifn; X8 XM © are
known as: (¥)Mfk; (3. @ capable of ... as: capable of: §gig
(B0). e £i%, B89 rotating shafts. being used as: ¥k, & capable of
R FH4iE.
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Figure 1: Flow of energy in machines.

inputs to other machines, such as electric generators, hy-
draulic pumps, or air compressors. All three of the latter
devices may be classified as® generators;® their outputs
of clectrical, hydraulic, and pneumatic energy can be used
as inputs to electric, hydraulic, or air motors. These mo-
tors can be used to drive machines with a variety of out-
puts,® such as materials processing, packaging, or convey-
ing machinery.® All machines that are neither prime movers,
generators, nor motors® may be classified as operators.
This category also includes manually operated instruments
of all kinds,® such as calculating machines and typewriters.

If the operator is 2 pump driven by an electric motor,
the flow of enmergy from the prime mover at the power
plant through the generator and motor to the operator is
as shown in Figure 1. The operator can also be driven di-
rectly by a small, direct-connected prime mover, such as a

@ be classified as: %%, K. (@ generator: ~&i§“2{§a2§”,
REEPERE B RES/LHISENER. @ with a variety of out-
puts: #FHHAFBHEN. WRFIEE, feE)E, #Y machines. a variety of:
K& H¥N. @ materials ... machinery: materials processing (“# ¥ im
T.”),packaging # conveying #FUiBi machinery. & that are neither ...
motors: ZiEHI4Y, 8 all machines. neither ... nor ...: ..., X&K..;
LHLEER. ®  of all kinds: £Frhy. g1 EBiAEIE, MiE, 9 manual-

ly operated instruments.
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gasoline engine, as shown by the dotted line in Figure 1;
for most® power-driven operators, however, the flow of
energy from the prime mover follows the solid lines.

In some cases®, machines in all categories® are com-
bined in one unit. In a diesel-electric locomotive, for example,
the diesel engine is the prime mover, which drives the elec-
tric generator, which, in turn,® supplies electric current to
the motors that drive the wheels.

The following are some examples supplied by an auto-
mobile.

In an automobile, the basic problem is harnessing the -

explosive effect of gasoline® to provide power to rotate
the rear wheels. The explosion of the gasoline in the cylin-
ders pushes the pistons down, and the transmission and
modification of this translatory (linear) motion to rotary
motion of the crankshaft is effected by the comnecting rods
that join each piston to the cranks (Figure 21) that are
part of the crankshaft. The piston, cylinder, crank, and
connecting rod combination is known as a slider-crank mech-
anism; it is a commonly used method of converting trans-
lation to rotation (as® in an engine) or rotation to trans-
lation (as® in a pump).

To admit the gasoline-air mixture to the cylinders and
exhaust the burned gases, valves are used; these are opened
and closed by the wedging action of cams (projections) on

D most: kB¥; A5 @ in some cases: HAHEBERT. @ in
all categories: & Fhfy; K&, FEINEIE, fEEiE, %8 machines. @
in turn: (%)X, (FEH#)k. G is harnessing ... gasoline: is: &. har-
nessing: FIf. &4, fERE. REE is harpessing RINHRHAHLT
Bt. © as: fifm. :



a rotating camshaft that is driven from the crankshaft by
gears or a chain.

In a four-stroke-cycle engine with eight cylinders, the
crankshaft receives an impulse at some point along its length
every quarter revolution.® To smooth out the effect of
these intermittent impulses on® the speed of the crank-
shaft, a flywheel is used. This is a heavy wheel, attached
to the crankshaft, that by its inertia® opposes and mo-
derates any speed fluctuations.

Since the torque (turning force) that it delivers®
depends on its speed, an internal-combustion engine can-
not be started under load.® To enable an automobile
engine to be started in an unloaded state and then con-
nected to the wheels without stalling,® a clutch and a
transmission are necessary. The former® makes and breaks®
the connection between the crankshaft and the transmission,
while the latter® changes, in finite steps,® the ratio between
the input and output speeds and torques of the transmis-
sion. In low gear,® the output speed is low and the out-
put torque higher than the engine torque, so that® the car
can be started moving; in high gear,® the car is moving

@ at some point: X — Ai(L). along its length: & iy K & H 1.
every quarter revolution: 545 1/4 . 2HARIE. @ effect of(...) on...:
GO R M. mEwM. O by its inertin: S BRI, AR
. @ that it delivers: ‘ERT{4ii). ZEiBEf, WH torque. it: %
JGTW Yy internal-combustion engine. G) under load: ZHHABPIBRT;
EHRMIEAT. © without stalling: & (iR zhH) Wk, HEKKX.
(@ the former: f#. #8 L4y clutch. (8) makes and breaks: 4
B4 #i5Y%. @ the latter: F:¥%. I8 L4y transmission. .10
in finite step: 2 JL&; 2 JLK. @ in low gear: AE{E#¥S. @ so that:
Wic; Bibh; #%; PAME. 3 in high gear: fEg#H. - :
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at a substantial speed® and the torques and speeds are
equal.

The axles to which the wheels are attached® are con-
tained in the rear axle housing, which is clamped to the
rear springs, and are driven from the transmission by the
drive shaft.® As the car moves and the springs flex in re-
sponse to@ bumps in the road, the housing moves relative
to the transmission; to permit this movement without in-
terfering with the transmission of torgue, a universal joint
is attached to each end of the drive shaft.

The drive shaft is perpendicular to the rear axles. The
right-angled connection is usually made with bevel gears
having a ratio such that® the axles rotate at from one-third
to one-fourth the speed of the drive shaft.® The rear axle
housing also holds the differential gears that permit both
rear wheels to be driven from the same source and to ro-
tate at different speeds when turning a corner.®

Like® all moving mechanical devices, automobiles can-
not escape from the effects of friction. In the engine, trans-
mission, rear axle housing, and all bearings, friction is un-~
desirable, since it increases the power required from the
engine; lubrication reduces but does not eliminate this fric-

@ at a substantial speed: LLR#&; ®#E . © to which ... at-
tached: LELKR. RHGEIA to P which FBRNZEIEWD, BY
axles. (3 drive shaft: Ez)¥; £xh5h; M. (@ in response to: B§...
(f); Bi..(fi). (5 such that: XHMHIABT.... M4, RFRER ©
at from ... shaft: Ul-:zhihddify 1/3~1/4 Bod B, at ... speed: LL...RY
S BL.. foddi. from ... to ...: M...B.... one-third the speed of: ...3#
Bty 1/3. one-fourth the speed of: ... #EM 1/4. (7)) when turning a
corner = when the rear wheels are turning a corner. (4 Ja¥) S

Ry like: &..(—#); &F.... RWEA.



tion. On the other hand,® friction between the tires and
the road and in the brake shoes makes traction and brak-
ing possible.® The belts that drive the fan, generator, and
other accessories are friction-dependent devices. Friction is
also useful in the operation of the clutch. Some of the
devices cited above, and others that are described below,
are found in machines of all categories,® assembled in a
multitude of ways® to perform all kinds of physical tasks.
Because of this diversity of function and the lack of com-
mon characteristics, this article will not be concerned with
specific operators. Neither will it deal with the overall per-
formance of prime movers, nor with the operation of hy-
draulic, pneumatic, or electrical devices.® It® will consider
only the operation and structure of the basic mechanical
devices that are the constituent parts of machines. The
function of most of these devices is to transmit and mo-
dify force and motion.® Other devices, such as springs,
flywheels, shafts, and fasteners, perform supplementary
functions.

For the purposes of® this article a machine méy be
further defined as a device consisting of two or more resis-
tant, relatively constrained parts that may serve to trans-

(@D on the other hand: W B —FE¥E; IR, RZ. ©® makes ...
possible: {E...JX5WHE. (@ of all categories: #ZFfy. @ in a mul-
titude of ways: DAk, UMYX, a multitude of: ¥ £M.
® Neither ... devices. neither ... nor ...: BEAR ... XA..; ... #1 ... #f
. ki it (&% this article) {F will f1 deal Z{F. nor J5EAY with
5 deal RAE¥XFR. deal with: BRk; ¥tk ® I: % this article.
() is to transmit ... motion: is: £. to transmit and modify ...:. F
ERERIE. For the purposes of ...: .. .3ki%; AH7T..8%.
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mit and modify force and motion in order to® do werk.
The requirement that the parts of a machine be resistant
implies that they be capable of carrying imposed loads
without failure or loss of function.® Although most machine
parts are solid metallic bodies of suitable proportions,
nonmetallic materials, springs, fluid pressure organs, and
tension organs such as belts are also employed.

The most distinctive characteristic of a machine is
that the parts are interconnected and guided in such a way
that® their motions relative to one another® are constrain-
ed. Relative to the block,® for example, the piston of a
reciprocating engine is constrained by the cylinder to move
on a straight path; points on the crankshaft are constrain-
ed by the main bearings to move on circular paths; no
other forms of relative motion are possible.

On some machines the parts are only partialy con-
strained. If the parts are interconnected by springs or fric-
tion members, the paths of the parts relative to. one an-
other may be fixed, but the motions ef the parts may
be affected by the stiffness of the springs, fricton, and the
masses of the parts. '

@D in order to (+#iAER): AT..; LMET... @ The require-
ment ... function. F3MHE TR, ik, B, TR FEREGER, W
HEIBET A EARE. ENHIARBHEBMLT should (“EiZ"N+3
WEH). XB that the parts of a machine be resistant = that the
parts of a machine should be resistant. that ... resistant: B Zi&HE)
4], #B§ requirement. that they be capable ... function = that they
should be capable ... function. & implies E:kfy®RiER4. & in such
a way that: Eid. (HR)%; LEBERBHRE...; Afi.... @ relative to
one another: H kM. @ block = cylinder block. L.



If all the parts of a machine are comparatively rigid
members whose deflections under load are negligible, then
the constrainment may be considered complete and the rel-
ative motions of the parts can be studied without consider-
ing the forces that produce them.® For a specified rota-
tional speed of the crankshaft of a reciprocating engine,
for example, the corresponding speeds of points on the con-
necting rod and the piston can be calculated. The deter-
mination of the displacements, velocities, and accelerations
of the parts of a machine for a prescribed input motion
is the subject matter® of kinematics of machines. Such
calculations can be made without considering the forces in-
volved, because the motions are constrained.

According to the definition, both forces and motions
are transmitted and modified in a machine. The way in
which the parts of a machine are interconnected and guid-
ed to produce a required output motion from a given in-
put motion is known as the mechanism® of the machine.
The piston, connecting rod, and crankshaft in a reciproca-
ting engine constitute a mechanism for changing the rectilin-
ear motion of the piston into the rotary motion of the
crankshaft.

Although both forces and motions are involved in the
operation of machines, the primary function of a machine
may be either the amplification of force®@ or the modifica-
tion of motion. A lever is essentially a force increaser,®

(D them: ft#¥ relative motions. @ subject matter: E#t; @H; =
A iel. ® mechanism: — B iF“YLI". R AR LEERE LHMNBER
B, KiEDLE"RCYLE”. @ amplification of force: JHEE“W® b M K.
BREBEARRCITIEN”. © force increaser: M7 {. M“FHMHER".
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while a gearbox is most often used as a speed reducer.
The motions and forces in a machine are inseparable,
however, and are always in an inverse ratio.® The output
force on a lever is greater than the input force, but the
output motion is less than the input motion. Similarly,
the output speed of a gear reducer is less than the input
speed, but the output torque is greater than the input
torque. In the first case a gain in force is accompanied by
a loss in motion,® while in the second case a loss in mo-
tion is accompanied by a gain in torque.®

Although the primary function of some machines can
be identified, it would® be difficult to® classify all machines
as either force or motion modifiers; some machines be-
long in both categories. All machines, however, must
perform a motion-modifying function, since if the parts
of a mechanical device do not move, it is a structure, not
a machine. It is customary for machinery designers, when
studying the motions of the parts, to® speak of® the
mechanism of a machine.

While all machines have a mechanism, and consequent-
ly perform a motion-modifying function, some machines
do not have a planned force-modifying purpose; the forces
that exist® are caused by friction and the inertia of the
moving masses and do not appear as® a useful output

@ (be) in an inverse ratio: KXk, @ loss in motion: EzHAY R
%, in: ... 5H. @ gain in torque: HIEMW K. in: f£.. 5. @ would
(+HIARRE): BRE); B2@0). ©® (be) difficalt to (+3HIFFM): ELL
(#). ©® it is customary ... to (+B)iAMA): AWTE). for (+ A+
to (+HiAKE): R#HEB LEENSHURER. BRARRDATEARD L
MEiE. @ speak of: {H; itk. ® that exist: FIEM; FHELM. &
BB, WM forces. © appear as: RIM; fih.. HA.



effort. This group would include measuring instruments
and clocks.

The “work” referred to® in the definition will be in-
terpreted in its scientific sense. In the science of mechanics,
work is something that forces do® when they move in the
direction in which they are acting, and it is equal to the
product of the average force and the distance moved.® If
a man carries a weight along a horizontal path, he does
no work according to this definition, since the force and
the motion are at right angles to one another;® that is,®
the force is vertical and the motion horizontal. If he car-
ries the weight up a flight of stairs or a ladder, he does
work, since he is moving in the same direction in which
he is applying a force. Mathematically, if F equals force
(in pounds or kilograms),® and S equals distance (in feet
or metres),® work is then equal to the applied force F
multiplied by the distance this force moves S; or WORK
=FxS.

When a force causes a body to rotate about® a fixed
axis, or pivot, the work done® is obtained by multiplying
the torque (7)) by the angle of rotation.

These concepts of work are fundamental in defining
the mechanical work function of machines in terms of®

® referred to: Fiip R fh. (@ that forces dosB 1% El4), 18] some-
thing. (@ the distance moved: BiBSzhMEER. @ (be) at right
angles to one anether: fiyLREfA; EHELE. © that is: i; hitL.
® in pounds or kilograms: IR 86, B BBRARF. in: B...
AEE; B, @ in feet or metres: DAER SR MAM; BAENKRR
*. cause ... to (+EHiAKIE): {6...(). rotate about £5 ... FEkk.
® the work done: Bifif9Zh. @ in terms of: JH..GRIE); if; HHK;
&1
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forces and motions, and they bring out® the inseparability
of forces and motions in machines. Because of friction,
the work output from a machine is always less than the
work input, and the efficiency, which is the ratio of the
two, is always less than 100 percent.

The ratio of the output to input forces is the mechani-
cal advantage (MA), and it defines the force-modifying
function, while the ratio of the input to output motions
is the velocity ratio (VR), and it defines the motion-modi-
fying function. When the efficiency is high, these ratios
are approximately equal; if the output force is ten times
the input force,® the input motion must be ten times the
output motion; i.e., what® is gained in® force is lost in®@
motion. Friction affects the mechanical advantage but not
the velocity ratio.

To calculate the efficiency from the ratio of output to
input work, it would® be necessary to® know the work
done by the output and input forces over® a specified
distance. Since this would® entail the determination of
average forces over® the interval, it would be inconvenient.
The efficiency of a machine is more easily determined from
instantaneous values of load and the rate at which the load
is moving. For this purpose,@® power formulas are most
useful.

© bring out: y=A&; HMRK; #W; B U RBll. @ (be) ten
times the input force: R|AN N HWRABDANAE. be x times
y: By xiEkyk(x-1DfE. ® what = that which; the thing which.
@ in: .. 5E. © would(+FHiAKH): S R(#H). © be necessary to(-+
HAER): BEAGM). @ over: Fil; Mid. RHEF. ® would (+3)
HREE): #0); BRE(R). © over: 2F®. for this purpose: Jht;
AT, hix— sk
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